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1. Rewrite the sentences below using the correct form of the verb “to be”.

a.

b
c
d.
e

My father / a doctor.

. Anna and Janet / at home.
. My cat and my dog / playing outside.

We / meant to be.

. Her friends / in Europe.

2. Change the sentences below into negative.

a.

b
c
d.
e

My cousins are happy.

. Their friends are at school.
. We are going to the movies.

My mother is wearing a red coat.

. You are a good friend.

3. Reuwrite the sentences below using the interrogative form of the verb “to be”.

a.

He / a teacher

b. The kids / playing outside

c. Her friends / at school

d.

e. She/ still living down the street

Your parents / at church

4. Complete the chart below.

SUBJECT
PRONOUN

VERB TO NEGATIVE
BE

INTERROGATIVE | SHORT
ANSWER

YOU

HE

SHE

WE

YOU

THEY




5. Make 3 sentences about you using the verb to be.

6. Complete the chart below regarding the use of demonstrative pronouns.

SINGULAR PLURAL

HERE

THERE

7. Complete the sentences below using the correct demonstrative

pronouns.

a.

b
c
d.
e

car right here is mine.

. That yellow house over is my mother’s.

. Please, bring me books that are in the other room.
are my parents in Picture over there.

. Look at cats right here! They are so cute!

8. Choose the correct alternative. Consider zero and first conditionals.

PO T

i. If you put water in the freezer, It turns into ice.
ii. If it rains, we will reconsider out trip to the beach.
iii. If we call Susan, Peter will never forgive us.

i., ii., and iii. are zero conditionals

i. zero conditional / ii. ; iii. first conditional

i., ii., iii. are first conditionals

i. first conditionals / ii. and iii. zero conditionals
none of the above

9. Choose the correct alternative. Consider second and third conditionals.

PO T

i. If  won the lottery, | would buy a house.

ii. If I cooked dinner, | wouldn’t order food every day.
iii. If I had studied more, | would have passed the test.
ii., iii. are third conditionals

I, ii., iii. are third conditionals

., ii., and iii. are second conditionals

I. and ii. are second conditionals

none of the above




